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The cost y (in dollars) to rent x video games is represented by 
y = 4x . Graph the equation and interpret the slope.
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The daily wage y (in dollars) of a factory worker is proportional 
to the number of parts x assembled in a day. A worker who 
assembles 250 parts in a day earns $75. 
a. Write an equation that represents the situation.

  
b. How much does a worker earn who assembles 300 parts in 
a day? 

1. The cost y (in dollars) for x gigabytes of data on an 
Internet plan is represented by y = 12x. Graph the equation 
and interpret the slope.
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2. The weight y of an object on Titan, one of Saturn’s moons, 
is proportional to the weight x of the object on Earth. An 
object that weighs 105 pounds on Earth would weigh 15 
pounds on Titan. 
a. Write an equation that represents the situation.

b. How much would a spacecraft that weighs 3500 kilograms 
on Earth weigh on Titan?

15 = 105m y = 1x
1 = m                   7
7 

y = 1x
      7

At a track event, the distance y (in meters) traveled by Student 
A in x seconds is represented by the equation y = 7x . The 
graph shows the distance traveled by Student B
a. Which student is faster?

   
b.  Graph the equation that 
represents Student A in the 
same coordinate plane as 
Student B. Compare the 
steepness of the graphs. 
What does this mean in the 
context of the problem? 
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3. The  distance y (in miles) that a truck travels on x gallons  
gasoline is represented by the equation y= 18x. The graph 
shows the distance that a car travels.
a.Which vehicle gets better gas mileage? Explain how
you found your answer

b. How much farther can the 
vehicle you chose in part (a) 
travel than the other vehicle on 
8 gallons of gasoline?

x
0
1
2
3
4

y
0
18
36
54
72

y = 18x

The car get better gas mileage.  

Steeper slope or higher m =25

y = 18(8)
y = 144 mi

y = 25(8)
y = 200 mi
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